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QUESTION 1

A company has decided to implement cloud computing service models (laaS, PaaS, SaaS), and is defining the right
persona to use each of them.

Who will be the typical user for laaS?
A. Sales Engineer

B. Line of Business user

C. System Administrator

D. Developer

Correct Answer: C

QUESTION 2

Which two public clouds provide Red Hat Managed OpenShift instances? (Choose two.)
A. Microsoft Azure

B. Corda Cloud

C. Oracle Cloud

D. Google Cloud

E. El AWS

Correct Answer: AD

QUESTION 3

Which type of storage is used in a database application that needs consistent fast access to disk?
A. Block Storage

B. Instance Storage

C. Object Storage

D. File Storage

Correct Answer: A

QUESTION 4
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What is a type of Continuous Delivery pipelines and how are they specified on IBM Cloud?
A. Tekton pipelines are specified in YAML; Classic pipelines are specified graphically

B. Legacy pipelines are specified with XML; NextGen pipelines are specified in JSON

C. Simple pipelines are specified with XML; Complex pipelines are specified in YAML

D. Tekton pipelines are specified in XML; Codewind pipelines are specified in XMl

Correct Answer: A

QUESTION 5

According to NIST, how is cloud computing defined?

A. A model for enabling convenient, on-demand network access to a shared pool of compute resources
B. On-demand non configurable computer resources that can be rapidly provisioned

C. The capability to provide dedicated network access that can be provisioned in batch mode

D. A model for delivering a dedicated pool of computing resources on premises

Correct Answer: A
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